35.3.3

WD TIVRID'T YR YR A%°yn naon MY AT TINHH 1y B

12b (7 mawn) 2 13b (D8P 7ONTY DRINT ROYVY)

2,0 mow N7 DIND T M IR MANI VY 199 521’07 DN W9 92 BV .
25:19 87772 WP MY YPYYD VIYD NN 922 R D IR P2 TN Y .
12,37 477712 DYR 1279 DRV IRYDY OPNYD DN IAR NND DY NYIY 1D TP 0D 1Y IR 2YI IR WY .

v3,25 mow Y DN PPRYD D2 IAR DY 1Y D NYIY NIRRY T1VY NYyn 12 .
7,72 o127 13072 7Y DONND KD .

I ymwn: range of n»’yn — whether n'an 713, nam or neither (cannot be both; if fit for nam, can’t be n’an P15 WIPIN)

a

Examples: of that which is fit for narm only; n>an p7a only or neither
i Fit for man praonly: if he was v1pn a pit with water in it;
ii ~ Fit for naronly: if he was w*1pn a dove-cote with doves in it; or a tree (vine) with grapes (for 1n T10%)
iii  Fit for neither: is he was v1pn a dung-heap with dung on it; a field with grass on it

1 Inall these cases: n'’yn applies to the area and its contents
However: if he were to be w»pn such an area and the contents arrive later (grow in or are brought in)
i Then: n’yn only applies to the area, not to the “new” contents or byproducts
ii ~ »pr 7 n»yn does apply to growths of w1pn (field/grass, tree/fruit)
Nursing: the young of a n7wyn may not nurse from its mother, nor may a w1pn 19 nurse from its mother
i Source: nhayn::n1ayn from M1 (vv. 1-2) —just as 21 is fully w11, so all of 2”yn is wi1Tp (even milk)
it~ Source (for pw7PI0): MR::INR from N2 (vv. 3-4)
However: some people (wrongly) make a condition as a “workaround”
i mwwn when putting female into 9>7 for 2”yn stipulate that they are excluding milk from v7pn
ii w7 they sanctify animal to the exclusion of its milk
Impact of w777 0n field: 519 and animals may not eat from w1pn growth in field
i Workers: in spite of rights in field (13-n2:33 ™27 1Y)
ii ~ Animals: in spite of prohibition against muzzling an animal while it is threshing (v. 5)

1 Argument: nmn prohibits muzzling w712 — but not of v7pn

2 xn»ax if someone threshes beans in a w1pn-field, that is n%yn (for using the area)

(a) Challenge: n»yn only applies to vion
(b) Answer (x2237): implies that the dust kicked up helps the threshing

II 1 mwn: nYyn in “shared” ypp and its byproducts

a

b

d

Tree: of V10 that go through wTpn-field or vice versa — Poyn X9 i RY

Spring: that comes from wTpn-field — PHyIn R’ PIm RY

i However: if it goes out of that field — may get nxin

Waters of o'ni7 ;1o°x. water in jug used to draw water (not WTp — see %7 N210) — POYIN R PN KD
i However: once it's put in flask used to pour onto narn — n%yn attaches

may (used to “decorate” narmon Mo see 7:7 AI10): POYIN R 17a01 RY

i »7ax7. the elders used to use them for their ya%%

I Dispute anv *1/5"aw7 regarding 1w of mnn Non

a

57awT. exclusion of nYyn from jug — only if there is more than pn% ‘3; but 3 pn5 — nYyn attaches
i challenge: mywn rules that n»yn only applies to flask < no matter how much water in jug, doesn’t apply
ii  rather: read 9"2v7's comment as being about flask — n?’yn only applies to 3 Y, not if there are more
1 pnv /7 n»yn applies to any of the water
2 Implication: "aw1 hold that o'nn N1 have a minimal Myw (of PnY 3)
(a) However: Xn»a records yoR "1 as ruling that onn 1o71 during Mo outside — 270 for yin nR5yn
(i) And:pny ™, quoting narTY onan, aligned 8™ with ¥™’s read of Dn?2v), equating ©nN NO2::P*N NON
(if) 57awr countered - if so, NN N7 should require 3 1Y (as 170 NO”)
1. Implication: 5"2w7 assumes no MYV for wnn NO7N
2. Defense: 9"aw1 was responding to narTy onin — (he himself maintains the 1w of 3 paY)
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